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MENSURATION 2D (AREA) WORK SHEET

BOOK SOURCE SPLIT UP

TITLE

NEW
OLD

Exercise

OLD

3.1to 34

NEW

3.1,3.2

OLD

2.1

NEW

(2.1 to 2.4) both

OLD

21,22

NEW

21to24

OLD

4.1

R.S.AGGARWAL
(2020 Edition)

688 - 765

FORMULAE (@sdymise) :

S.
No

Name of the
figure (QuuwiT)

Figure

Area (Sq. Units)
ugLiLeney (&.9160@)

Perimetre (P)
S{Bpeney

Triangle
(p&CamemILD

(L tb)

lxbxh
2

AB+BC+ CA

Right Angle
triangle
OlgmIGaTeun
(p&CamemILD

height (4)

el

base (b)

C

lxbxh
2

(base + height +
hypotenuse)

Equilateral
triangle
FIDLIHSD
(p&BaTemTLD

A

N

e a2 where

(/3 =1.732)

AB + BC + CA=3g;
Altitude,

h= —3a units
2
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Isosceles

triangle ) . hx Ja2 -2
®H FLOLSHS

(1p&BeHT6mTLD
Scalene
triangle . \/S(S O Ch b)(i_ ) AB + BC + CA
(9|&FLDIJ5'SEB Where a = a+to+c = (a +b+ C)

(pSBamemiLd)

Q‘;;S;iibe)fal % xdx(h+h) | AB+BC+CD+DA

Parallelogram
(B m6wIsHIID) 2 2x(a+b)

Rectangle 2x(1+Db)
(QF6i16usLD)

AB+BC+ CD
+ DA

Trapezium
(feusld)

%xhx(a+b)

1
EXd1Xd2

C where d1, ds
are diagonals
(eLpemeval L LD)

Rhombus
(gmuIFsITD)

Square

. a2
(5&iyLD)

Sector
(eu_ LG remiLl

UGI)
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Area of Triangle p&@amemggen Ly
If A(X,Y,),B(X,,Y,) andC(X,,y,) are the vertices of a AABC then the area of the

1
AABC s E{xl(yz = ¥3) + % (Y; = Y1) + X% (Yi = ¥,)} sq.units

Square (apeweveit Lib) (d) (Diagonal length) = a~/2
Perimeter of a sector =1 + 2R

Length of the arc of each of the sectors = l><27zr
n

Area of each of the sectors = % x 771>

The perimeter of a semi-circle
P =1+ 2r units
= zr+2r
= (z+2)r units

The perimeter of a circular quadrant
P=l+2r="" 4 or =(£+er units
2 2
Concept Summary:

o The central angle of a circle is 360°.

Perimeter of a semicircle = (7 +2)xr units.

2
. . r .
Area of a semicircle = 54 units

The central angle of a semicircle is 180°.

Perimeter of a quadrant = (g+ ij r units.

2
Area of a quadrant = %sq. units.

The central angle of a quadrant is 90°.
Perimeter of a combined figure is length of its boundary.
A polygon is a closed plane figure formed by 'n' line segments

Regular polygons are polygons in which all the sides and angles are equal.
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Irregular polygons are combination of plane figures.
Area of the circle = zr?

Circumference of the circle = 2zr

Covered distance _ sLb5 GFHmensos]
Perimeter & BeTI6Y

No. of revolutions =

Mensuration 2D- Area Worksheet

One of the sides and the corresponding height of the parallelogram are 12
m and 8 m respectively. Find the area of the parallelogram.

Sgliudsd 12 1§ wBpd 2wy 8 1 SlenedeT OFBMew  ©6n6mnTs]d e
UJLILIGNG) S5T6u0I&b.

a. 88 m? b. 96 m2 c. 100 m?2 d. 90 m?

The base of the parallelogram is thrice its height. If the area is 192 sq. cm,

find its base.

RT  DmMBIHIA  DQULSHITHIH  DHST o wWrHmpl  Gumev  cpeiy
DL RISTHAD DGt UFleTe) 192 F.05.10 SuEeaubd SomUler, SiglissHemd
&BITCU0I 5.

a.16 cm b.17 cm c. 36 cm d.24 cm

A ground is in the shape of parallelogram. The height of the parallelogram
is 14 metres and the corresponding base is 8 metres longer than its height.

Find the cost of levelling the ground at the rate of Rs.15per s q. m.

RT  Bemewid]  augalevmel  mWEHTaihHer o wgh 14 5. Coeb  iHe
SILILSHD, 2 WFHmS S el 8 15 gnBHe0 elafled, MHTAIHMSF FOUILUBSHD
am F8.5% T 15 aizbd eeiaene OFee| LEGLD.

a. Rs. 4620 b. Rs. 4600 c. Rs. 4640 d. Rs.4680

If the area of the rhombusis 60 s q. ¢ m and one of the diagonals is 8

¢ m, find the length of the other diagonal.

R FTUFHITSHI ST Uglilene] 60 F.05.15 LBHBID DIHT @0 cpevevall LD 8
QF.15 eTedll6D, LOBOMT(H CLHMEVATL L HenSHDH HT6wISb.

a. 16 cm b. 20 cm c.15cm d. 10 cm

The floor of an office building consists of 200 rhombus shaped tiles and
each of its length of the diagonals are 40 ¢ m and 25 ¢ m. Find the
total cost of polishing the floorat Rs.45 per sq. m .
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T  Seevsdd &lLd Hoguled 200 gmuiFsy  augeleorer  @BH6NT
LuFlebsULL Beiener. @B cpenevall L misalar jenaseT 40 G&.0 wBmid 25
QF.15 eafed, Sewgew GCUHImLLE FEIBLHBSSG I 45 aipb  CTHss
OlFevemeUdh HTENIS.

a. Rs.450 b. Rs.500 c. Rs.400 d. Rs.350

A sweet is in the shape of rhombus whose diagonals are given as 4 cm and
5 cm. The surface of the sweet should be covered by an aluminium foil.
Find the cost of aluminium foil used for 400 such sweets at the rate of Rs.7

per 100 sq. cm.

RT @ellly 6umd FTUIFHIT 6Ugaled 2o 6TeNH. DIHET P60 il L MISHe6i
wopBCw, 4 G5 wBpb 5 6F.5. Geilldlear Guiurlly wWepeugid Glosdedlul
oifiaiug sl Lmed apl i GeauewiBd. 100 #.05.166@ I 7 ol Grdhsid
400 @efliysmen Seuifialus HHL LT (L eelalene] OFevalm@b?

a. Rs.240 b. Rs.300 c. Rs.280 d. Rs.250

The area of a trapezium is 828 s q. ¢ m. If the lengths of its parallel

sidesare19.6 cm and 164 cm , find the distance between them.
ugliLeney 828 F.05.15 2 1b, BmeuiliLcbssd SlenaseT 19.6 GOF.5, 164 GF.16 o b
OameniL FlleussHer 2 UITHnSH SN,

a.46 cm b. 42 cm c.40 cm d. 48 cm

A ground is in the form of isosceles trapezium with parallel sides
measuring 42 m and 36 m long. The distance between the parallel sides is

30 m. Find the cost of levelling it at the rate of Rs.135 per sq. m.

T BmaFwusss Ffleusld eaugaled 2 66 MHTHISHHE Eenewill LHEHHIGHENT
4215 BmId 36 15. BemeuliLsahSEHHEGH el CuiujeTen GeTemeve| (2_wigd) 30
15 etafled, OIbdH MLHTAHMBF FOIUGSS @ F.156& I 135 aipd eeialene,
OFeve] SLGLD?

a. Rs.157950 b. Rs.156950

c. Rs.150950 d. Rs.160000

If the circumference of the circle is 132 m. Then calculate diameter (Take 7
22

_7).

R QI LSHST amperne] 132 15 eafled, DiHeT @l LD HT6wisb. (ﬂz% STGHED).
a.42m b.84 m c.44m d. 38 m
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14.

A farmer wants to fence his circular poultry farm with barbed wire whose
radius is 420 m. The cost of fencing is Rs.12 per metre. He has Rs.30,000

with him. How much more amounts will be needed to fence his

farm?(Here, = 2)
7

o alleugmul, 420 15 SPupedLW L  algeled mWhHAHBGW G
LenTeneniend &M, (peTGeauel Sieminds al(HLUSIBTT. DSBES @ LB L (HdHE
¥12 aipb OFevaun@b. eufiLid ¥30,000 o 6Tengl eafled, DGUTHI LIGHTENNTSHE

(PeliBousl Siemds EeTEID el6ileusa Liswid CxhemeuliLiBd? (S, 7z=§)

Z
a. Rs.1680 b. Rs.1780 c. Rs.1500 d. Rs.1600

A gardener walks around a circular park of distance 154 m. If he wants to
level the park at the rate of Rs. 25 per sq. m, how much amount will he
need? (usem = %)

154 5 &Bmene 2 6ol @ QI L algalll LYmisTeneauF &mnl @ GHTL L Sy
BLSGBMTT. SBpatF Caiuel d oy 8L HsEG I 25 ol @b Crss

OQFeve] wWmg? (ﬂz% 61631 )

a. Rs.47162.50 b. Rs.47762.50
c. Rs.46762.50 d. Rs.49162.50

The radius of a circular flower garden is 21 m. A circular path of 14 m wide
is laid around the garden. Find the area of the circular path.

R el L algalll UhGHTL L G o 21 5. SbsHd CHTLHmHF amnl, 14
I SIBUD © 666U L HeDLLITeNS 2 616Nl 6leNleD, DibFH Ul L Lumengulleir
UJLILIGNG) | S5T6u0I&.

a. 2468 m? b. 2464 m? c. 2400 m? d. 2450 m?

Three identical coins, each of diameter 6 cm are placed as shown in the
diagram. Find the area of the shaded region between the coins. (r = 3.14) (
V3 =1.732)

alOeumeimId 6 OF.15  ellL(peTen  cpEOIB  @HDH  BTIMIGET L HFH60
ST 1QU6TTENeUTMl  MEUSBLILIL (HETeN6. [HTeRIULMISEHHESG enlulled SiemL UL (Heiter
Boed i L uG uiar Lpiiueteeus steais. . (T = 3.14) (V3 =1.732)

a. 1.46 cm? b. 2.16 cm? c. 3.75 cm? d.2.74cm?

Find the cost of fencing a square flower garden of side 50 m at the rate of
Rs.10 per metre.
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galy eugaull UhHGHM LA ubsd 50 15. yhGsm L Hmasd amn WL ®mseE I
10 aizb GauelBuTL @D CFevenaldh HTEHID.
a. Rs.2100 b. Rs.2000 c. Rs.2500 d. Rs.3000

Find the area of the following figure:
SIPHHTEID LIl SHEH6T LFLILIGTeNEIS SHT6mI5.

a. 69.5 cm?2 b. 68.5 cm? c. 68 cm?

17 cm

A plot of land is in the form of a quadrilateral, where one of its diagonals is
200 m long. The two vertices on either side of this diagonals are 60 m and
50 m away from the diagonal. What is the area of the plot of land ?

R IL(B LmIUTEIH HIBEHIIQalsd © 6TeNdHl. DIHT 6(H CLPeDELaTL L GaHleo
perd 200 5. BpIBRSISHSHeT B aHT o FdHen cpensvall LSHaHelmba 60 15, 50
1§ OpTenevalled o 6iTeNedl 616dN60 HIMBTHSHleT LTLILIeNTe| WITHI?

a. 1100 m? b. 1150 m2 c. 11000 m2 d. 11500 m?2

The circumference of a circular field is 44 m. A cow is tethered to a peg at
the centre of the field. If the cow can graze the entire field, find the length
of the rope used to tie the cow.

@@ euwed  Geuefluflesr &mmeney 44 5. euwed Oeuaflulesm  eMLOUISHH60
DII9SHBLILIL_(HeiTer (Lpemeutu iieL SlbLdbasullml Osmemi(h (h U&LT(H
S LU (heiTengl.  euwlevGeuad  (pupeugild u&wTH  Gowl  (puioTeTTed  LIGLTH
&L LU (Beitern Hibdb sulipslest HemGlLoestest ?

a.6m b.6.5m c.7m d.7.3m

A silver wire when bent in the form of a square encloses an area of 121 sq.
cm. If the same wire is bent in the form of a circle. Find the area of the
circle.

R OeueTalld & euemendslILL (G FHTLOTS LIBBILD  Curgl, DIH6TT60
SwLUBD ugHuler ugiueney 121 F.05.18 6% OelsTeldsbll aul LIDTs
AUMTSHLILIBHMBH! 6160160 UL L SHHT LITLILIGTE| 616016017

a. 150 cm? b. 154 cm? c. 163 cm? d. 167 cm?

A uniform circular path of width 2 m is laid out side a circular park of
radius 50 m. Find the cost of levelling the path at the rate of Rs.5 per m?

(Take m = 3.14)

50 15 owoned  G@mewiL el eaugelll EsTalel  GeuefliymsHaHled 2 1S
SIBVLHHE0  FIDFFTTRT QUL LLILTDHS DIDDSSLILGHMBH.  DIIUTHSHMWIEF  FLO6H
QFiIW @@ FHIJ BLLMBSSG b O aldd G OFevemeud stews. (m =3.14)
a. Rs.3210.50 b. Rs.3102.80
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c. Rs.3025.50 d. Rs.3202.80

The diameter of a semicircular grass plot is 14 m. Find the cost of fencing
the plot at Rs.10 per metre.

Sy el L algaieomer LsGalel gemier ol L 14 5. 9isB&HF FBm Gaued
omndd @b BLmEG I 10 aisbd 0Fwe oudamgh  eealsd  QomsHs
OFLENEUS  HTCIISH.

a. Rs.260 b. Rs.330 c. Rs.360 d. Rs.410

The radius of a circle is 21 cm. Find the perimeter and area of a quadrant of
the circle.

R Ul LSHIHET b 21 GF.15 eleled, DIHST HT6L QUL HEH6T FBBETeNaIULLD,
LIFLILIGTTENGULILD  SHIT6NTE.

a. 73 cm, 356.5 cm? b. 75 cm, 346.75 cm?

¢. 75 cm, 346.5 cm? d. 74 cm, 346.5 cm?

If the sides of a triangle are 3 cm, 4 cm and 5 cm, then the area is

Qb (WHCaTamshHer LsH Seneyser 3 6F.15, 4 OF18 wBBID 5 GF.5 eTeied
DIGHET LITLILIGNG)

a.3 cm? b. 6 cm?2 c. 9 cm? d. 12 cm?

The perimeter of an equilateral triangle is 30 cm. The area is
RH FoUSHS (PHCaTemisHHen ammena| 30 GF.10 eeled, SIH6T LTLIL6TE]
a.10+/3 cm? b. 1243 cm? c. 1543 cm? d. 253 cm?

The area of a rectangular shaped photo is 820 sq. cm. and its width is 20
cm. What is its length? Also find its perimeter.

R OF6ieus ealgaleorel LemSULLLD eamler uFliueTe 820 &y OF.15 wwBEmID
OBV 20 OF.0 eelled SIFHei Honld eleaiien? GogYld HIGHEIWL Ul SFBMeTeneld
SBITGON .

a.41 cm, 122 cm b. 42 cm, 124 cm
c.38 cm, 120 cm d. 40 cm, 120 cm

The side of a square is 10 cm. If its side is tripled, then by how many times
will its perimeter increase?

@ FHISHST ubsD 10 OF.10 DHE@IHL U LSSHID clpetyl WL mSTGHD Curg,
FHMMETE] 61HHEMeT oL MISTH HIFHBMHEHLD?

a. 2 times b. 4 times c. 6 times d. 3 times

The sunshade of a window is in the form of isosceles trapezium whose
parallel sidesare 81 ¢ m and 64 cm and the distance between them is
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6 ¢ m. Find the cost of painting the surface at the rate of Rs.2 per s q .
cC m.

@ sH6Tefl wenpliLrer (Sunshade) @mawusss sfous augalsd o eTengi.
SIFHT  BmenTiubS  DleMeydHeT (BB 81 OF.15 BmId 64 OF.15 SiFHe
o wyib 6 OF.8 eefled, SUILTIML  euetteniOL ¢ F.05.18.63% I 2 aisbd
CFeVemaIDH SHTEHIH.

a. Rs.770 b. Rs.570 c. Rs.870 d. Rs.700
Solution:
Parallel sides, a =81 cm, b = 64 cm
Height, h = 6 cm

Area of trapezium = %h (a+b) sq. units

- %x6x(81+64) = 435 cm2

Cost of painting 1 cm?= Rs. 2
Cost of painting 435 cm? = 435x2 = Rs. 870

A verandah of width 3 m is constructed along the outside of a room of
length 9 m and width 7 m. Find the cost of cementing the floor of the
verandah at the rate of Rs.15 per sq. m.

9 8 men(pd, 7 15 SDIBHEOUPID 2 6ol T DewmHG OeuelGui, 3 15 Fymen
Sise(psiten @b SHTpeutgid (Verandah) o etengl. (o) Smbeumyd e LFLiLeTey
BTeWE. (O)) SDibHdH ST UGHBG F.16-68 I 15 aipd H6wewn g
G OFevMeUS HT6HIH.

a. Rs.1370 b. Rs.1400 c. Rs.1980 d. Rs.1340

Solution:

| 3m

Om

15m

Area of the room = Ixb sq. units
=9x7 =63 m?
Area of verandah along
with room = (9 + 3 + 3) x(7 + 3 + 3)
=15 x13 =195 m?
.. Area of the verandah =195 - 63 =132 m?
Cost of cementing 1 m? = Rs. 15
Cost of cementing 132 m2 = 132x15 = Rs. 1980
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28. A cow is tethered with a rope of length 35 m at the centre of the
rectangular field of length 76 m and breadth 60 m. Find the area of the land
that the cow cannot graze?

76 15 men(pd, 60 15 SIFEOPD 2 6ol @(h OF6leusd eaugeull Le06leuerTuledr
MDWSHH0, @ WIH 35 15 mempeien sulBmmed &L LOULBHelTengl. bSH LoThH
Guowipuing BleoliLgliteTenal Sieal[hHs.
a. 700 m2 b. 710 m? c. 720 m? d. 750 m?
Solution:
Area of the rectangular
field = Ixb sq. units
=76x60 = 4560 m?
Length of rope, r =35 m
Area of land that cow
can graze = zr’ sq. units
- %352 = 3850 m2
Area of land than cow
cannot graze = 4560 - 3850 = 710 m?

Find the central angle of a palm leaf fan (sector) of radius 10.5 cm and
whose perimeter is 43 cm. (7 = %)

o 105 0.5 wppb asmpene) 43 OF.0  oemeyseT  OETERIL e
LenenGuitensy el mlufest entowiECsTentd smewis. (T =%)

a.110° b. 120° c. 60° d. 55°
Solution:

\/

Given, r =10.5cm and P =43 cm
P=2r+1
43 =2(10.5) +1
[=22cm

Now, length of the arc, | = 36? x27zr units

o

22 = 4 X 2 xgxlO.S
360 7

o

= 0°= 120
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An advertisement board is in the form of an isosceles triangle with
perimeter 36m and each of the equal sides are 13 m. Find the cost of
painting it at X 17.50 per square metre.

Bm Fouss (1pHCHTWT algalevieen ¢ alembUIll LevendUle S&mpmena] 36 1S
OBBID SIHST ReICAITH FoUSSSHH ST Henld 13 15 GID. HHBEG 666D
uF @ &I BLGBEG I 17.50 aisbd ou@b 0Femelds HTenis.

a. 1150 b. 1050 c. 1250 d. 1450

Solution:

10m

Equal sides of the triangle = 13 m
Perimeter, P = 36 m
Third side =36 - (13 +13) =10 m

h= J13-5 =144 =12 m

.. Area of the triangular board = %xbxh sq. units

= %xlelZ = 60 m2

Cost of painting 1 sq. m = Rs. 17.50
.. Cost of painting 60 sq. m = 60 x17.50 = Rs. 1050
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MENSURATION 2D (AREA) ANSWER KEY

1

2

3

4

5

6

7

8

9

B

D

A

C

A

C

A

A

B

11

12

13

14

15

16

17

18

19

A

B

A

B

D

C

C

B

D

21

22

23

24

25

C

B

D

A

D
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